SHAEE KERICET5R2ABTOEMRIK

(GRIE-RETEH) $H5E3 A3 BRE

SEEWEE | EBH EREE S £ %58 E T om ERE | mx
ERABREHB | AE-FREF (B TUR- BEHRE 1K R4.7.12~9.30 4,664.0 xT
EARRERA | AR | () 7O REEEE 1K R4.7.30~10.31 3,531.0 =T
FHEHRFHH | BE-HE |(BIOR KERE-RZ-HZE 1K R4.4.8~R4.5.31 1,639.0 =T
FEERBHR | AE-RE (AT THREAVHILLVL (KERE-A=-FE X R4.7.11~R5.1.15 8,052.0 =T
FHEHFEHH | BE-HH (BEEA—IToT=Y KERE-RE-HE 1K R4.9.28~R4.10.27 1,980.0 =T
EERBREHH | AE-REG |BRRFEOREEER KERAE-E-FE 1K R4.8.1~R4.11.30 6,941.0 =T
EHEREHR | BE-REF (2300 V KERE-RE-FEF 1K R4.8.11~R4.11.10 4,653.0 =T
EEREREHH | AE-HRH |(FEA—Io0=Y KERAE-RE-FE 1K R4.85~R4.11.4 2,618.0 =T
LEERBHR | AE-RE (AT THREAVHILLVL (KERE-A=-FE X R4.10.27~R5.3.22 7,942.0 =T
FWEREH | AE-FRE |ROALR REERE 1K R4.9.1~R5.3.15 4,554.0 %7
FIEREHA | ME-RE (EVIY BERE 1K R4.5.17~17.31 1,474.0 =T
FWEREH | AE-FRE |ROALR REERE 1K R4.7.15~R5.2.28 2,502.5 %7
FIMERREBHA | AE-HE |RORMEE BIEERE 1K R4.9.20~R5.3.28 3,091.0 =T
FWEREHHR | ME-FRE |BOTAF REERE 1K R4.9.1~R5.3.28 44220 =T
FRWEREHH | BE-FRET |ROOVVY REERE 1K R4.7.4~12.28 5,258.0 =T
REEHREH | BIE-H|ET (R fFK REERE 1K R4.9.20~R5.2.28 7,843.0 =T
REEHREHH | BIE-HRE | (B BREIHII BEHRE 1K R4.12.25~R5.3.15 5,742.0 =T
REEHREHH | BIE-HRE |LEEER K REEERR RIEERE 1K R4.10.28~R5.2.28 2,794.0 =T
KEEREHBT HE () 7R —KREEEM UAVEEAIE A=0.7ha R4.7.8~R4.9.30 990.0 xT
WAREREHAR | BE-&E (BWTFT71v7 BE-a&E 1K R4.4.27~R4.10.31 14,4540 =T
WMARBRBHA | A=-H5 |(HTTHREIVYILIVL [AIE-FE 1K R4.4.27~R4.10.32 13,772.0 =T
AETREREHA | BIE-H[E | LBRERGD BEEE 1 R4.4.5~R4.6.30 3,047.0 =T
KETEHREHA | BE-RG |LEEHRGED REERE 1K R4.6.24~R4.11.30 4,700 =T
KETEHREHA | BE-REF |BOREFRIAETE R REERE 1K R4.7.19~R4.10.31 4,026.0 =T
KETREFHT | B2 (G 0 T T VAE st xt R4B22~R41130 | 20570 | T
FRAEREHAT ®Eit  |(WHBRASHTHEEN |[IFAEARFIERES 1X | R4627~R4.10.31 3740 xT
ERREHH | BE-RE RBEEHHERIE BEEE 1 R4.9.7 ~R4.12.20 4,059.0 =T
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TRNBHEHRR | BE-REH (AT THREAV YLV [BIERE 1K R4.8.11~R5.1.31 10,241.0 =T
TRNBHEHRR | BE-REH (AT THREAV YLV [BIERE 1K R4.8.11~R5.1.31 13,6180 =T
TRNBHEHRT | BE-HE (TR REEEE 1K R4.8.11~R5.3.20 8,833.0 xT
TRNBHEHR | BE-&E | REEHIVYILED M BEEEE 1K R4.9.1~R5.1.31 2,728.0 xT
TRINEBERR | BE-RE (7O TYY BEHRE 1K R4.8.11~R5.1.31 9,944.0 xT
TRNBHEHR | BE-&E | REEHIVHILEMNS REEEE 1K R4.8.8~R5.1.31 2,761.0 xT
TRNBHEHR | BE-H&E |[RE®EIHILI M BEEEE 1K R4.9.5~R5.1.31 5,544.0 =T
RHEiRAR | M- |(WBRRSH AEHE 1K R4.8.8~R4.10.21 5,005.0 =T
REHERES | B2-%5 (BRERZE BEHRE 1K R4.8.8~R4.10.14 44770 =T
REHERES HE (S HEHE Az 1K R4.8.12~R4.10.31 1,936.0 xT
REHERES BE  |SATVTavHLAVRER)  [BIE 1R R4.8.12~R4.9.8 1,056.0 xT

38 192,692.5
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